S B A AT IS
M B AANE B2l Y A (SEHLLA/ AL - OE)
Pl SHEMAT S N ZA (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
Sholl & == A XHR I E 2,646,702 2,615,944 30,748
= 63,000
== 2,583,702
i*)ﬁHéﬂ =AM 22| & R (sgaleaat/aieaat - O 838,785 940,330 A51,545
= 63,000
== 825,785
ST & OtM A A 413,385 493,530 80,145
= 63,000
< 360,385
UES HIHF SAHYL 200,645 335,072 N134,427
201 er23y| 4,165 4,472 A307
01 AtR2t2|HI 4,165 4,472 A307
OO0 - If - 227 SHYL GR=A 1,400
SR R=EL] 2,765
202 04l 12,480 10,400 2,080
01 SLHoIH 12,480 10,400 2,080
OO - Iff - 247 S HRFA 6,000
O=%F% ol 5,076
OBR% ZtMSAL X2 1,404
206 M=l 130,000 256,000 126,000
01 MHZHI 130,000 256,000 126,000
OO0 - If - 2% SAdA =Y 130,000
207 ARl 54,000 54,000
03 Alg 328 54,000 54,000
OO - Iff - 2247 SAHYA AIZ | 54,000
ASS AlgdaE A 91,740 95,200 A\3,460
201 eer23y| 9,940 14,200 N4,260
01 AtR2t2lHI 9,940 14,200 A4,260
OO - T Algdd7 g4 9,940
202 04| 4,800 4,000 800
01 =LHOHI 4,800 4,000 800
OO - i Algd7 g4 4,800
206 M=l 50,000 50,000
01 MHZH| 50,000 50,000
OO - HF AIEALE Alg & 45 S 78 50,000
207 ARl 27,000 27,000
03 Al 2HI 27,000 27,000
OO - T MES Mg NS 27,000
APNSHE (AL & 2AD = i) 50,000 32,858 17,142
= 35,000
= 15,000
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Bl 14,000
= 9,800
= 4,200
206 M=l 9,000 12,000 A3,000
= 6,300
S 2,700
01 MHZH| 9,000 12,000 /3,000
OUMAN HigAtz & 9,000
= 6,300
== 2,700
207 ARl 27,000 14,858 12,142
= 18,900
= 8,100
03 AlZ &=t 27,000 14,858 12,142
OA"AEsE H AIZSHR I 7Y 27,000
= 18,900
= 8,100
A =ME BAS SA 31,000 0 31,000
201 er23 | 5,000 0 5,000
01 At2teltl 5,000 0 5,000
OZAts BAIEHl |RX2e] 24 5,000
202 048l 8,000 0 8,000
01 2L AL 8,000 0 8,000
OYAls ZAE AT =IH(RABE 150HA) 8,000
405 AtaHE = 18,000 0 18,000
01 Tt =S F=HI 18,000 0 18,000
dAE AIE Jt5, 22 1S 18,000
ARNSHE 2E(SCAIOL XIHIHsE LAl e 40,000 0 40,000
)
= 28,000
< 12,000
201 fer23 | 24,000 0 24,000
= 16,800
S 7,200
01 AtR2te|HI 24,000 0 24,000
OSLHAIOL JIsd =28 42 &4 5,000
= 3,500
= 1,500
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S B A AT MES
. AY2I3HI(Stol =L AHAMIE]) (O1EHIIEY)
el JI=23 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
ORAME2Y AtR2clH] 20,650
202 04l 13,167 12,635 532
01 =LHOHI 13,167 12,635 532
SEAE2E U 13,167
203 =4l 9,220 9,220
01 J122ggRFa| 3,300 3,300
(OFnFS) 3,300
02 HAJAHARFA| 1,120 1,120 0
OZ& = 1,120
M EAEgER=A 4,800 4,800 0
©302! 0I5 4,800
204 e A 4,800 4,800
01 Mg R 3| 4,800 4,800
(OFTS) 4,800
g2ld 29 29,400 29,160 240
201 =3 29,400 29,160 240
01 At22t2l] 29,400 29,160 240
og - =At| 29,100
OFFF 74 & NE 300
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